MIUILT PILICATT O]
100 PROBLEMS

Calculate each product.

7 x 10 = 10 x 6 = 10 x 10 = ’ YO x 14 = 58 =
8 x8 = 6 x b= Tx17= 26 x 10 = 23 =
10 x 2 = 2 x 10 = 8 x 95 = 8 x9 = 9 70 =
9 xY4= S x 10 = 8 x 101 = 9 x 80 = 8 x 103 =
9 x 10 = Tx17= 4 x99 = 5 x 50 = 9 x 33 =
6 x 95 = 12 x 10 = 4x97 = 4Yx 39 = 9 9 =
2x3= 9 x 1= 9 x 33 = 3 x 96 = 6 70 =
10 x 8 = 3 X103 = 9 x 101 = 7 x 53 = 6 54 =
2 x5 = 4 x 102 = 7 x 60 = 6 x 66 = 3 x 22 =
S5 x9 = 9 x12 = 9 x19 = 7 x 28 = 7 20 =
1Tx2= 7 x 96 = 20 x 9 = 9 x 60 = 9 53 =
S x8= 7 x 39 = 8 x7= 8 x 15 = 6 27 =
6 x2 = 8 x177 = 8 x99 = 3 x98 = S 104 =
10 x 4 = 4x 52 = 6 x 2N = 9 x99 = 9 Yo =
4 x 105 = 8 x 25 = 6 x 59 = 10 x 16 = 5 2N =
6 x 103 = 3 x99 = T x44 = 2 x 103 = 7 8 =
10 x9 = 2x|00=| 9 x 35 = 7 x 571 = 6 16 =
3 x8= 5 x 70 = 6 x Y4 = 9 x 29 = Yx22=
10 x 3 = 6 x 37 = 6 x 27 = 10 x 15 = 7 91 =
8 x 10 = 9 x 22 = 3 x99 = 6 x 25 = 17x9 =




